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QUESTION 1

How does NSX simplify the underlying physical network? 

A. All configuration and state information is available via the REST APIs to automate the configuration of the physical
network. 

B. All configuration and state information are readily accessible, as is the mapping between virtual network topologies
and the physical network. 

C. All configuration and state information is stored in the local NSX BPDU database, eliminating the need for Spanning
Tree Protocol (STP) on the physical network. 

D. All configuration and state information is cached by the NSX controllers, reducing the number of MAC/ ARP table
entries on the physical network. 

Correct Answer: B 

 

QUESTION 2

On a vSphere Standard Switch, how does teaming two or more physical network adapters provide load balancing when
using the Load Balancing feature Route based on the originating virtual port ID? 

A. They physical network adapter is chosen by use of a round robin based algorithm for each additional virtual port in
the port group that becomes active. 

B. The physical network adapter is chosen by using the source IP address of the virtual machine and the destination IP
address as variables in an algorithm. 

C. The physical network adapter is chosen by using the source MAC address as a variable in an algorithm. 

D. The physical network adapter is chosen based on the workloads from each port and the number of physical
adapters. 

Correct Answer: A 

 

QUESTION 3

You are tasked with designing a data center architecture that should maximize the use of vMotion within your
environment. The design has these requirements: 

The network must utilize widely offered layer 2 switching and layer 3 switching services 

Purchase of new equipment should be minimized 

Which two network design architectures will provide the requirements for vMotion in your data center? (Choose two.) 

A. Utilize layer 3 switching from the access layer through the core. 

B. Employ layer 2 multipathing using a standardized protocol. 
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C. Deploy a flat, traditional layer 2 switched network. 

D. Deploy an overlay technology for the deployment of your virtual network. 

Correct Answer: AD 

 

QUESTION 4

What is the minimum MTU size recommended by VMware for the physical network when deploying NSX for vSphere? 

A. 1550 

B. 1600 

C. 2148 

D. 9000 

Correct Answer: B 

 

QUESTION 5

Which tool is used to display VXLAN connection information? 

A. pktcap-uw 

B. NSX Controller CLI 

C. esxtop 

D. VDS Health Check 

Correct Answer: B 
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